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{Sf{ Roll No (For All Sessions) | Eaper Code— 5 j— 7
Physics (Objectnve) Group - I R~ 13 ; j

Time:15 Minutes

Note: Write answers to the questions
given. Which answer you consider correct fill the corresponding

question with marker or ink on the answer sheet provided.
.df..ﬁ’(—/at L_,ﬁu'é_/l:,'bv‘gyzz_/.ib:'l(..,lzuu/'éfdii

1.1 The correct equation of motion will be:

Marks : 12
on the objective answer sheet provided. Four p0551b1e answers are
circle A,B,C or D in front of each

s DOBANZ RSy s 22
'Jﬁb‘"’L"b—//)J\-fC 11

Ay Vv —Vi=at ® Vi~ Ve =at  (C) V- V= a2 (D) VE+ V= a’t?

2. The number of significant figures in 0.03 is: 2
(A) 0 ®) 1 ©

3. The unit of force will be: . 3
(A) Ns (B) Kg ms” / \

4 The values of rectangular components Fx and JJ; 4
Fy of a force F are 6N and 8N, the magnt
of force will be:
(A) 48 N ®) 14 N<

5. The value of grav1tat10na1 fiel Asfrength 's surface 1 S
(A) Zero M __6.67 Nkg! (€ % (D) 8.9 ng

_LJK&)L& Wy zént0oem Al ¢/ 6

6. A body of mass 2 kg is pl d on thextab
400 joule 3:5400 (D) Zero Joule Jz

100 cm high, the value of t¢ kinetic energy 1@
)

(A) 50 joul 250 (B) 20 _]01.11 _
. The graph hich dpes not obey Ho i%» o nJF Uu,n, IRl S
F \\\ ) F 4
(A) N C) l R (5))
- % .

8. Water freezes at - :?n,,+t@@J4/vg /,"‘ﬂ Jg RS
(A) 32 °F \\(B) N 30 °F © Hb2 ®») 0°F

9 Metals are good conductors of h;azle to : P FBY 57 d L7 l¥n 9

Al s 2PLUT (B) Bigsizeof their molecules AgIE L

(A) Free electrons
et ALy D) Rapid vibrations of theiratoms 24174 AL

(C) Small size of their molecules

10. A forcc of 20 N produces an acceleration of K():.d/yu")jib’Z 5ms 20”()-«('0’1”0/ wonN 10

2.5 ms™ in a body. The mass of the body 1s:
# i

(A) 10 kg (B) 50 kg ©) 8kg (D) 0.25 kg

11. Normal human body temperature is: e & ;,"s'()'GUu:w.:f'f‘ a1
(A) 310k (B) 273k © 37k (D) 98.6k

12. The unit Nm used for torque can also be used for: S m,‘écﬁn;;mjsgﬁ wlel St Nmesy 12
(A) '~ Power a (B) Efficiency u""} &
(©) Momentum (‘“’«’ » (D) Work s
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S.S.C. (Part-I) A /2024

(For All Sessions)
Physics (Subjective) Group -1 ) BT
Time: 1:45 Hours PSP =27 Marks : &
’ Section - | _ st
2. Write short answers of any five parts of the question.  [2x5=10] iy faliz P L égg.éf 2

What is international system of units?

Define least count of vernier callipers.

Why do we need to measure extremely small intervals ¢f tim
Write down two advantages of friction.

What will happen if all frictions suddenly disappear?

What is meant by Isolated system?

eI Sy

e, é&s‘m‘/jwz,d;" #uo i

?ﬁ:._J/UJuJ:/Jﬁ-quﬁldjélﬂLJ:u” (
A inl ) / (V)

qu*w,&ruﬁrv/ (
L 5'4.;‘/&(:—('—/#5:"7 (viy

T ng’..ﬂ/ur‘Jf_zJ "q"

{vii) Why does the value of "g" vary from place to place? (
(viiy What is Global positioning system (GPS)? (vii)
3. Write short answers of any five parts of the questMS— Y 3
(i) Draw a distance-time graph which shows a variable spesd ; y{,—fj e (i)
(i) Differentiate between speed and velocity. '" (ii)
(iiiy How can vector quantities be represented graphically? / -:,-.CC!,o (iii)
{iv) Define deforming force. T ' N By PSS Bs (V)
(v) Canwe use hydrometer to meap/re the dens@\of mitk? & %ﬁ\? (U ES S mmasa§ A (V)
(vi) Define elasticity and give an exampte. ™\ | @% \ Lo JoLimeg i P8 (i)
(vii) Differentiate between land brebze and sea b ee?x‘%s \ \) IS f() /,nj/r) {vii)
(viii)  Why transfer of&eat in fluids take place by £onvg AP’\@ we St f ud ety w7 JBIaE L (Vill)
4. Write short ahswers of any five parts of the -.‘; \ [2x5=10] i FeMn P Lz é,g.«:_éf 4
(i) Define ce?(re of gravit \ )/ Ew a5 ()
(if) Differentiate between ke aad u 4’@ os. gL & 7/ LGSy id vty (i)
(i) Why the height of vshicles "’3‘ low as péssible? // v Be sl Faw SaSunt )
(iv) Define power and write\{s SI unit: —y el oy Sy En (iv)
(v} Differentiate between sou d\energy\aqd @t enargy. O REEAANEI B ()
(vi) Why are fossil fusls called nonyrenewghfe form of energy? S bl UL s dJeSEaI4 ) (Vi)
(vi) Define internal energy. 2/ gy ASgak g (viD)
(viii)  Define evaporation. Py (Vi)
Section - II (924
Naote:  Attempt any two questions from the following: [9x2=18] .y febzlebynadiciditn —d
5 (a) What are measuring instruments? Explain meter rod in detail. — [4] el R A e UJ & ()5
(b) How much time is required to change 22 Ns momentumbya  [9] Lifimded 22 Nsu:(‘if, z f)’Jr ()
s craie: koY 38 20 N
6. (a) With the help of speed - time graph prove that 2as =V — V*: [4] 2as =V} - VESU/ chasddffily () 6
01 Asurtyeeewpaniy i bbb afive Bl et TR Nl G
having contact area 1.5cm?. Wl 2 gl g4 L 1 Bome L LEAL
7. (a) Define resolution of force and how can a fo[?ce be [4] ot LSS by St PSS Pdsgs () T
- resolved info its perpendicular components? e E@ v, ‘):};c 5 J,« - J.,-) rf
(b) A block weighing 20N is fifted 6m vertically upward. B . sutuioe i Bmeted s Sitdss 20NLT ()
»J.S Calculate the potential energy stored in it. ‘ . ) ‘f-.‘f(' Jo g Jf‘f'g bl
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Y¢ | Roll No (For All Sessions) Paper Code | 5 | 4 7l
Physics (Objective Group - II (S 7
ysics (Obj ) PWPs —> 7 Sy g,

Time:15 Minutes

Note:

1.1

10.

11.

12.

Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of cach
question with marker or ink on the answer sheet provided.

.J)/ﬂc_fjl. Lo e P b2 b .. .«(&'!E’v'!u».g,éb’d!i-wle: DC,B,AVLI.-”,«?ALJV/

One megameter is equal to: e by /-..’s’_:,.{o 1.1

(A) 10°m (B) 10°m © 10°m (D) 10”m

See-saw is an example of: gy 2

(A) Rotatory Motion S (B) Circular Motion Sk

(C) Vibratory Motion Frd g (D) Random Motion S

The resultant of all the forces acting on a body is called: /ZMJJ/( e iderdnd S 47 g 3

(A) Net force S (B) rétlon \\ ‘f( 7]

(C) Gravitational force w}f:‘da’/ (D) (Forc N

Inertia is related with: : \ @(ﬁ‘q—)ivéuf gl g 4

(A) Mass st (B) Force /[jk ©) i @\w, nergy  (§./

The value of sin 30° is: \\ & {& Ggred f sin 30° 5

(A) 0.15 (B) /\ 0 8/6\ _ \\i}_’);); 0.5

The value of "g" on Moop/(s \’\) &‘; e dnedd g/,i/ oy 6

(A) 10ms™ /(B) / 1 62" \s\ 7ms (D) 3.9ms™

Rate of doing work is cgllgcr P e QWL P8 s T

(A) Energy g (B) "f' © )/qmc/ vs (D) Power !

Mass- ene equation i 7 AV~ \ 5 :;_.;uli GAuJl .8

(A) E =‘m2c2 E mcz)/ (C) EE = (D) E=3

H)éghh press rks on: /”’/} PRV IIN DT 9

(A) Newtbn\s law\ JM ! (B). Pascal's law ui L Fy

(C)  Archimede¥ prircip 6\/ Jr Lyt (D) Hook's law UL

Unit of heat is: RPN OV 10

A) Wat  wi B) Kelvin g& 1 (C). - Joule Jz (D) Ampere A

Absolute zero is eqial to e bndigiedred 11

(A) 273 °C B) 373 °C © —273°C (D) 0°C
eldnl 2 26, 12

The thermal conductivity of ice is:
(A  3s5wm’'k’ B 0.7 wm 'k € 1.7wm'k

231-09-A
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Marks : 12
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S.S.C. (Part-I) A /2024

(For All Sessions)
Physics (Subjective) Group - II ) J7
Time: 1:45 Hours Marks : 48
Section - | ey Jsl o
2. Write short answers of any five parts of the question. [2x5=10] i Fen L ég edf 2
() Listout any four derived units. S gSugsisds ()
(i) Name four prefixes which are most commonly used. _u:"ﬁ rt£/64lgdf,L_ﬁdW1ru (i)
(ii)  Why we use zero error in measuring instruments? gL UL VWS (il
(iv) Define momentum and write its formula. P kg S PSRy W)
(v) Write two advantages of friction. _uﬁ’v il V)
(vi) Give two examples of third law of motion. _u_;u'ft-»J 7Y A (Vi)
(vii) Whatis the relation of 'g’ with radius of earth? -4 dL/.JW e la LK g (vil)
(vili) Define satellite with example. ety S o Al (vili)
3. Write short answers of any five parts of the question. [2x5=10] i fuz P Lz bl 3
(i) Define translatory motion. Give an example of it. P Sl 8Ty ()
(i) Draw a speed-time graph for body moving with uniform 2 ¢, s S Foofon sy A WSy Wt yoe (i)
acceleration.
(iiiy A car starts from rest. Its velocity becomes 20ms*in 20ms4u"m(w 4o B S ok (i)
4 seconds. Find its acceleration. ‘ . .
\ ~ el (/(_(:_dlgﬂ
(iv) Write two important features of kinetic molecular model ofymatter. Aol (V)
(v) State Hooke's Law. X ) w6 (V)
(vi) On what factors, the pressure exerted by a liquid insige it dependsQ {& Lol (Vi)
(vil) m g:;satrr;: r;t?h gf sﬂgﬁz ,gf heat vary WE’}{\“" crosgy” N\ n@%ﬂa/}& g o "ffii 57 sikEys (Vi)
(vii) How the convection mode of heat tra ?S q‘ll' (_...iﬁ‘ e W WS 5 Senz JEn (Vi)
4. Write short answers of any fi 5=10] \ E ez linbe S 4
(i) Define clockwise moment andianti cl D A S ey i SE G e SE )
(i) Define unstable equilibrium an é@tr 2y ¢4dd£ldjz/,vé4dd£l4,§(g 2 (i)
(i) rcioonvzp%anr; ra:t;g?rce blz ir:%?il;/gg?mto t Y & \?c‘-l:clgggg S ST LGt L] S IE WA (i)
(iv) What is megnt by qil-erosior? ¥y S P e S (iv)
(v) Differentigte between magma and geo-thermal energy. AR BAY ) s (V)
(vi) Write Mnd energy. //—M*“/ / et L3k (V)
(vii) Define latent heat'of fusion. W(ite its equatior{\_' s L S i 6 ez &Sk (vii)
(viily How cooling is produ\cQ by evaporation? ' te Gty Sht gyt (Vi)
Se\b%n —l‘l_% . (922
Note:  Attempt any two questions frem the following:  [9x2=18] 4/ /J’..-;l.,l;‘!éc—mr»a.é:( St -2
5. (a) Write a detail note on sc%ge. @4l A LG (5
(b) s?gcglghzgrgﬁ s requiréd to change 22Ns momentum by {5] LLiSigdxd 22Ns~u~:f‘-’ ygﬁ(’ )
?fﬂ)(/)_"f’ﬁbffJ/?J 200N
6. (a) Explain the working of Hydraulic press. 4] eSS LRy ity () B
(b) Atrain starts from rest. It moves through \1N l;\mt y 10020 L yie (2 !1_‘43 S fee HoladngiLl ()
T o f 100 se00d. B e 00 Bk i Sl
' ) ekmpoaion, O e o ern iRt oS et St T
Bl otog Crbuitd Bmuti£10/0 200 kgtdl - (2

(b) Calculate the power of a pump which can lift 200
kg of water through a height of 6m in 10 seconds.

_’5‘;‘:{)"/’2
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[ Roll No to be filled in by the candidate |  (For All Sessions) | Paper Code T574]7] 1|
Physics (Objective) Group-I- o/ (WIS

Time: 15 Minutes Marks : 12 R (D- (-3

Note:  Write answers to the questions on the objective answer sheet provided. Four possible answers are given.
Which answer you consider correct fill the corresponding circle A,B,C or D in front of each question with
marker or ink on the answer sheet provided.

-q,’fﬂc./zbgwf'uﬁgfiJ,JWLan...«l'?ib’.,«m.:'/u-g{!éz,) D,C,B,Awglﬁjlgﬁdlyﬁ Y

11 A measuring cylinder is used to measure: :q;rlggfrﬁ*c./ﬂ/‘? k 11
(A) Mass Coul (B) Aea ' L
(C)  volume s (D) level of aliquid Jo¥ws”

2. Least count of Digital Vemier callipers is:

L --~r===.~;;«,4,_;sm,m¢f;z,,a‘cf~; 2
(A) 0.1 mm @)  0.01mm '

3. Achange in position is called: 3
(A)  Speed Ly® (B)  Velocity dus ‘
4. Inertia depends upon: i 4
(A) Force U4 (B) Net Force wi.:é
3

Two equal but unlike parallel forces having differenf‘l!ﬁje of action

- M , ‘
produce: g
 Noutral equilibrium (£ A £iU22
" ;#%wﬂ—“--wiﬁdgf Jots 6
(C) 'f!;2300 Km (D) 1000 Km
7. © e (Pred Jg 7
decrease in altitude (D) None of these
e dnf ik S o
8. -%rﬂ"‘":"ju?l)LJ"GJ"JI}*’.{.")I&(/J 8
between force , )
(A)  45° 60° (@) %° D)  180°
9. Which of the substance is the ightest one? te e (eb) ol 9
(A)  Copper T (8)  Mercury Ny
(©) Aluminium (A (D)  Lead o
10. Water freezes at: :glﬂ-ﬂJ/./u;:/;’;ﬁ Jg A0
A)  0°F B)  32°C €  -273K O 0K
11. In solids, heat is transferred by: e ezt 11
(A)  Radiation Fishs (B) Conduction Ns's
(€)  Convection S (D) Absorption Szl
12.  Thermal conductivity of wood is: cgmmn A FeF 12

(A) 0.08 wmk! (8) 059 wm'k! (C) 0.03 wm'k! (D) 0.8 wm' k!
225:9-A- /2
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[RollNo __to be filied In by the candidate | $.5.C (Part-1)-A/2023 ,
= For Ali Sesslons, "
Physics (Subjective) e () TN
Time: 1 Hour 45 minutes GROUP-1 Marks : 48
Section - I RwP-1-2.3 il
2. Write short answer of any five parts of the following:- 2x5=10 A fehr L,lztégg.éf 2
(i) Whatis measuring cylinder? Write its uses. W nglaunv+g,kb$j & O
(i) Define atomic Physics. S i)
(i) “How to use a stopwatch? te ded U1 Lngt (i) '
(iv) Define random motion and write one exampie. A JeLinEw FSS e (V)
(v) Define Scalars and Vectors. G F S mAE (V)
(vi) Define uniform velocity. EJdF gy (V)
(vii) Define momentum and wite its S} unit. .J‘J i SISV }Jr" (Vi)
{viliy  Define inertia. _ gy s (vil)
3. Write short answer of any five parts of the following:- x5=10 v.,,,g/ 4;’_,;';/9 Langhe S 3
() Define resuitant of forces. - i PSSy, (i)
(i) What is meant by rigid body? S sl /Lf.—_,wtm (ii)
(i) State principle of moments. o uydf:b’u—'*r (i)
(iv) Define gravitational fieid strength. i
(v) Whatis GPS? °
(vi) Define artificial satellite.
(viiy Write Sl unit of Power. Also define it.
(viii) Define efficiency.
4. Write short answer of any five.parts of the following:- j
(i) pefine density of a substan é;};numurwé,y Fludiy” )
) e udt 2 v A (i)
(i) - Y. e dd Liig Ja7 (i)
(iv) t%?lﬁggracﬁlb g J’C o g mIE b(/.f/ (iv)
A b L iy 3187 /c.;.r,«y’,-c,» 2 (V)
e mf;;/
LR ()
Y /(u:uf“/g JoddA  (vi)
Ve blp s ol 1 o .,fn.w (viil
(224>
9x2=18 Al e larneldd  ud
! 4+5=9 wlerlafulie il rldi ) s
b) A train starts from rest with an acceleration of 0.5ms 2. 124 .,;,-’v[.u )/;[.0 SmsZe ol edigt Ll
ind its speed In kmh =2, when it has moved through 100m. stk b f AL LT S 100000 T )
6.  (a) What is meant by kinetic energy? Derive its equation. ~ 4+5=9 -£. “"H"V‘JJ W o e SHE d¢ W -6
(b) A force is acting on a body making an anﬁie of 30° with the Lbezith 30° 4 VL/'*X/(’ A ()
horizontal. The horizontal component of the force is 20N. Find (729 —¢- 20N & sidox Ve 5o /S en !
Force. b i
7. (a) How we can use conductors and non-conductors in 4+5=9 Je g S /md‘ru*’u,/r RO
houses? Explain it. e gl S

(b) The weight of a metal spoon in air is 0.48N. its weignt in water is

XA )5_048Nu”(éd(nu"lx w

0.42N. Find its density. K Jvu-" $$U1-¢-0.42N

226-09-A-
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S.8.C (Part-1)-A/2023

I Roll No to be filled in by the cnndidate—] (For All Sessions) LPaper Code l 5 I 4 I 7 l 2 j
Physics (Obj ecfiye) ~ Group-II- ..,.,,f (U-",/u)gf 3
Time: 15 Minutes : RuoP-2-a }, Marks : 12
Note: ~ Write answers to the questions on the objective answer sheet provided. Four possible answers are

given. Which answer you consider corréct fill the corresponding circle A, B..C or D in front of each
question with marker or ink on the answer sheet provided. )
S B Sy S 20302 Z S 2 13 g L2 bl iy s i
1.1 The Sl unit of force is Newton (N) which is equal to: . v 1.1
(A) Kgm?s—? (B) Kgms~2 (©)
2. A measuring cylinder is used to measure : 2
(A) Mass 1t (B) Area |4
3. 50 Kmh™? is equal to: 3
(A) 1.388ms™? (B) 13.88ms~?
4. I - ¢ is equalto: ° 4
A F () F
5. The number of perpendicular oompoﬁenls of a1 .;. mlﬂd’u-”:',;rd;féwi'uf 5
@A 1 (B) 4 o 2
6. Mathematical form ofidstcondition of equilibrium is: Y ATHIY A AL PN
(A) Y F=0 Yt=0 0! >P=0 (D) > W=0
7. Thte "f;rmula to fing? y, ).of alow or%b@zﬁmmvo) tedeswd wl SH S0l s T
satellite is : : . )
A Vo=gR  (B) © (0 Ve=/ER ©  Vo=/gR?
8. The K.E. of a body of mass 2kg is 2 Wby §Ueg 25 161K SR GLp S 3
(A) 50ms—t (C) 125ms—1 (D) 5ms—?
9. The density of wateris : P 1T
(A) 10kgm™3 - (B) 100 kg m=3 (C) 1000 kg m™3 (D) 10000 kg m~=3
10. What should be the approximate length of a glass e bl Dadul g S22 2 s, h .10
tube to construct a water barometer? Kl J”J I GM{ £J4L£vams
(A) m (8) 25m (C) 1m (D) 05m
11. Water freezes at : bt g0 11
A OF A  32°F A  37°F A  100°F
12. Example of bad conductor of heat is : e e e eLenr 12
(A)  Gold tr (8)  lron ¢ (C) Wool s (D) Graphite o)

227-09-A- ﬂ
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L Roll No __ to befilled in by the candidate 1 S.5.C (Part-1)-A/2023 (.
Physics (Subjective) (Fo(:;:)l[lj: 2’:}"3) e oy
Time: 1 Hour 45 minutes .

Section - 1 Q\D P’Q\A 3‘3 it ‘ ks 48
2, Write short answer of any five parts of the following:- 2x5=10 L1 f ez ,z*._r,,,y,,gké,g i 2
(i) Define atomic Physics. WA (i)
(i) Wite two factors of significant figures. z NIl s s (i)
(iii)  Write following quantities in standard form: L A8tz s 5 o (i)
(i) 6400Km (i) 38 :

(iv) Define circular motion and give one example. ! _ Sk o (iv)

(v) Define speed and write its SI units. ke (v)

(vi) Define acceleration and write its SI units. i yue (vi)
(vii) ~ Differentiate between mass and weight. S Bl s (vil)
(viil)  State law of conservation of momentum. ; Fp (Vi)

3. Write short answer of any five parts of the following:- i ‘ i ;15246 s 3
(i) Define like and unlike parallel forces. : LS P S SR T vy (i)
(i)) -~ What means by resolution of forces? ' Sesl oW ey d TPz, (i)

(i) Write principle of moments. Sl e JmZ e (i)

(iv) Why law of gravitation is important to ug’ L ag o650 (i)

(v) State the law of gravitation. G elee S ()

(vi) Define work and write unit, S Sy ek (vi)
(vii)  Define types of mechanical energy?_w @ SOy N AIISG ,-,JE-’-! (vii)
(viii)  What is nuclear energy? ) @ Sl ey (vl

4, Write short answer of any five parts of the following v LIz L'lzlégc._éf 4
() State Hooke's law. LKL (i)

(ii) Define pressure and T LSIE st 2y A i)

(iii)  Write difference befi§ gas. L5t A o i)

(iv) Define specific he_ﬁa’ capacit s, P f s ()

(V) Convert 50°C on Celsius scale i emperature scale. ./ tE :gyuju{;:,fsooc,"}:cg:* v)

(vij) How does heat reach us from the e 0T L Bty (vi)
(vii) Define radiation. _u:"{g JERiss,  (vii)
(viil)  Why does land breeze tlow & te- G UL Laisaf (v

Section - IT (9> ¢
Note:-  Answer any two questions from the following. 9x2=18 "y L fetzlctrna S e
5(a) ~ State Newton's second law of motion. By deriving des=g dododsun-af Vol b K e () 5
mathematical form of this law define the S unit of force. -ZEw A .ygéwia.n;f I e lsls
(b) A train starts from rest with an acceleration of Lif ugivéu“%kf:LOﬁms*;chJ M{q}_{n ()
t?{ gz;f‘—:ozi:f its speed in kmh=?, when it has moved Skmh™ e Sor 2t Lo S b Lo b’}:‘loo.‘gi);
6.(a) What is meant by kinetic energy? Derive its equation. 4+5=9 -Z;{Jil:—hl/tful?ﬁ:.)f e G 56 (1) 6

(b)  Find the perpendicular components of a force of 50N making an e i30° AL XU A SSON (L)

angle of 30° with x-axis. L Aot L
7.(a) Whatis meant by evaporation? On what factors the W59 yRea il Lf(‘q‘- spleHugy o) 7
evaporation of a liquid depends? S taes T/ A

{b) The density of a air is 1.3 Kgm ™ Find the mass of a air in a 8mxSmx4m.¢ 1.3 Kgm ™3 ${in ol

room measuring 8mx5mx4m. _g{r,b»um PP /ZJ{%
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Roll No. A (For all sessions) PaperCode| 6 |4 | 7 | 3
Group-I-o. A

Physics (Objective Type) (AR Y (u"‘;/')‘f('/

Marks: 12 Time: 15 Minutes &3#15:% 12:/4

L/J-ruuqb’dxf:uf eeng iz L& Du,CB A.-Ui)ﬁbﬁdlr/-égqrdlid‘ i ezl e syl s
LA S SRS Fo3e UL DL CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. Density has formula: :{.Uﬁl&b’é’éi 11
(ﬁ)::ss X volume (fb xJb (B) volume/mass Fh[gﬂ
(C) areafmass L[\ (D) mass/volume Jtlrfl:
2. Which of the following materials has large value of temperature Sun st Sl S RS e Sitn 2
ient of linear expansion? S“gém;yc.f
) Auminium €% (B) Steel I (€) Gold 2/ (D) Brass J%
3. What happens to the thermal conductivity of a wall is its thickness is doubled? :Q,_iC‘:fJ}ﬁ{L Uadtrdigns” 3
(A) becomes double & Jostslhs (B) remains the same < (U
(OYSecomes half gdbxu’:l (D) becomes one fourth < 1 'u’,g..f
4. Aninterval of 200 us is equivaient to: @dwy’nﬁ;ﬁzoo 4

(A) 02 (B) 0.02S (o/ 107s @(D) 2x10°S

5. By dividing displacement of a moving body with time,we obtain: @ L//"}JJIMJJLK LA u’{ .5
Us

(A) Speed ir (B) acceleration ‘ﬁ * (0)/ V (D) Deceleration u‘)’d:
6. Newton's first law of motion is valid only in the absence of: Tc_t'ruublfuﬁﬁiugu‘.'&ir/gfuf 6

(A) Velacity u"u; (B} Net force J/i../ @} orque e (D) Momentum ,“?

@ _ e ASIEMY 7
lo (€) m?s (D) ms?

7. Sl unit of acceleration is:

(A) ms- o s
ith the horizontal. It uAlec (g ¥ 30° L AE1xnifife10 8

L I

8. A force of 10N is making an angle
horizental component will b :b’nug‘};t(
TTTTTTAY AN 1By 5N {Cr 7N ﬂﬂT/‘GTN
| -5 Torque Tisequatio LA tte T-bt
(&) Fm B T - ™ €
10. The value of g on moon's surface is 1.6mS . What will be the weight of 3 1ib-g16ms?edf g iy 10
100Kg body on the surface of the moon? b8 LIL100Kg
(A) 100N 160N (C) 1000N (D) 1600N
11. If the velocity of a body becomes double, then its kinetic energy: TN AR A A A IR
(A) remains the same ¢ Gty (B) becomes double ¢ Jext/s
(C) becomes four times ¢ et/ becomes half & (luid
12. The energy of a moving body during motion is called: :g:.(}ﬂfdilJf-u’EﬂmL.:f] 12
(A) Nuctear Energy J./72% (B) Chemical energy (S K<
(Of Kinehc energy ey (D) Potential energy &iu}‘@:
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S.8.C - (Part-I) -A-2021

R
[Roll No. i) (For all sessions) »
el R R ) %,

48: ) 1l o 1:45:5
10=5x2 -#d .-.wﬁ&.:r/&g;éfc.‘;‘,bu -2
e LE Al i e et ~EEIIAL i fE |
. -2 ur/sr,;,,ta;{_y/i{cﬁ)fr Vi e VUIFKE v LIPSty iy
9(4&)([&@»4‘3’5}!.»@”‘%&& il -é.‘fa a.)uéd../(;(cf"; vii
10=5x2 ) -! QUJZ/’L'!ZI ééd.é.(ﬂ‘z}éw -3
b e io SR K i LI B i LI PN s iy |

-uﬁmcu’u/_‘y"{_ﬂe NS ie AL v -q,d&,;l,qu_gfl(ﬁdg/_ﬁw} v
‘e dple cr e i i -qf._g}J.:;ng?‘;y‘.ygmg vii

10=5x2 N -l e s 4
-J_‘&z’(d"ﬁﬁ'ﬁ?@.ﬂ/g;&éi ii ?lgjl/l!.:_./‘:’{.f/.i’uﬂ i gd -eﬁ‘{&&mgﬁ:}ﬁ’%} i
?‘QJTJJ{J[;,W:{#(;JI]J@"J;?U} i [ NIITEL el AAGEISR v
-q/;f&gs’wmé&;}ﬁ"ﬁ’ iz v -q/i'ud,uu’{;fulu’é vii
18=2x9 (1o
-q/}/’a;tzéaucng.dlgmpw O
04 VisVitat ke udufele (L) 5
05 -‘c0.6:»fd’uﬁ;..iTu—a”_fIfuyz:é//,ﬁj:id}ﬁ?fnw)ﬂfﬁuyuﬁJ'(,?’lé L1 SeLGIL o f¥ s ()
04 -’_ = b;&;&:(ﬁu’gg';\{ﬂ/d){ ()] 6
05 A e BB 6UL 110 200K g4 01 )
04 - ol SUR M ol oI Fan 7

05 (1.9x1o“’K"=.,’.-#L2:/mg{J/vd%ﬁ).“4_5?#;30"0&(,4[‘;:-;.6-’%% YRS
Q

P hYSiCS (Essay Type) Group-1 (Fgr@s?sions)

Time: 1:45 Hours Total Marks: 48

2- Write short answers of any five part from the following 2x5=10

i. Differentiate between scalars and vectors. ii
iii. What are prefixes?Give an example.

v. What is the law of Inertia?
vii. Write two ways to reduce friction. vii

is meant by vernier constant?
fine speed and velocity.
Define acceleration and write its formula,
g?fference between base quantities and derived quantities?
3- Write short answers of any five part following. 2x5=10
i. Define like and unlike paraliel ii. Define Geostationary orbit.

iii. Define clockwise and antic jse moment.  iv. Define force of Gravitation and give two examples.

vi. Define Torque and write its formula.

i itei St ii. What is meant by atmospheric pressure?

iii. Define density.Write its unit in SI. iv. Whatis meant by thermal equitibrium?

v. State Hook's law. vi. Why does transfer of heat in fluids take place by convection?

vii. Differentiate between conduction and convection. viii, Define specific heat capacity and write its unit.
Section -IT

Note;. Answer any two questions from the following.
§. (a) With the help of speed-time graph prove that Vi=V,+at. 04
(b)Howmudlismefomeofﬁ'ictionb'etweenawoodenblockofmassSKgandmehorizontalm’arble 05

(b) Calculate the power of 3 pump which can lift 200Kg of water through a height of 6m in 10 seconds. 05

7. (a) State Pascal's law and explain hydraulic press. 04

(b) A brass rod is 1m long at 0°C.Find its length at 30°C.(Co-efficient of linear expansion of brass=1 gx1 0°K"). 05
226-09-A—-



K
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Roll No._ o /osid (For all sessions) PaperCode|{ 5 |4 |7 | 4
Group-II-.r:/ .

Physics (Objective Type) Rw@-422] (u",,v)u/?

Marks: 12 Time: 15 Minutes &»15:=% 12:/4

LA Drugd¥dins .-/»_,,Tf.,.r;:f-‘gaﬁf_.,om,c,B,A.;w.;@gédlmg‘éq Wiz Tnetizl e s d
LS e S SBIM M3 LD | CBe A2l
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC&Dto
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. The value of latent heat of vaporization is: ::‘_Jx.vf J.uvf&ﬁiug, 11
(A) 2.26x10°JKg™* (B) 2.26x10%JKg" (C) 2.26x10°Nm (D) 2.26x10%)
2. In solids,heat is transferred by: e IR JBLUF 2
(A) Conduction ”% (B) Radiation o#i5t,  (C) Convection % (D) Absorption i/
3. Heat from fireplace reaches us by: :‘aﬁguugufﬁaﬂk.u"ﬁ 3
(A) Conduction ¢*2  (B) Radiation ¢®ijt,  (C) Convection S5 (D) Absorption  (fl!
4. The interval of 200 Us is equivalent to: :(ru,vj,r;:?,)?’nzoo 4
(A) 0.28 (B) 0.02S (©) 2x10*s (D) 2x10°S
5 Amount of a substance in terms of numbers is measured in: :‘a.:«'zb’i.)f'ﬁ’zw&.:tdé_o’r 5
(A) gram 1] (B) Kiogram 1/ (C) Newton /% (D) Mole~J»
6. By dividing displacement of a moving body with time,we obtain: :c‘-bm}" b;L/(:i.—h@lﬁJ}' Jr 6
(A) Speed  ir (B) acceleration J‘-)éi
(C) Velocity (s (D) Deceleratig 3
7. A change in position is called: @ ‘L&Md: iu:u;‘-ig 7
(A) Speed i (B) %p/ G
(C) Displacement .w‘ft"ui l stance b
8. Which of the following is the unit of momentum? O ?‘c.'r',fb";'rfu:rc.gﬂgf_i.yp 8

{C) NS (D) NS

(A) Nm (8) Kgms?
ety ptemdteEird 9

9. Abody satisfies second condition of

CwIR  @3E0 @Rl eXed

"y ,JQ_Ih_Eﬁmeng:amanonaLconstaan— ~~~~~~~ ey e A *'”WW‘ KT
(A) 6.673x10""Nm?Kg? (B} 6.6x10"'Nm’Kg* (C) 9.1x10*'Nm?Kg? (D) 1.6x10"°NmKg?

11. The unit of energy is: et 1

(A) Watt 20 (B) Joule J2 (C) Newton /¥ (D) Mole
12. One pascal is equal to: :‘ermf’g.g 12
(A) INm? (B) 10°Nm’ (C) 10°Nm? (D) 10°Nm?
' 227-08-A- T W —
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[Roll No._____ o Jirsis] (For all sessiogs)
‘ n-._,,,/ wh-41- (.:m) ‘/;‘
8. ) Jilo 1:45:% ,
10=5x2 gaul.lif'?ﬁol?l gl c'..‘; 3B -2 \
. d,fu{[;,g’; /_ﬁu il "LJ‘/U,LM‘/I(/’/J i -é‘o‘d#.ﬁul }7(; A
» e"(‘dﬁ-ﬁul!‘f/‘ "Lbrf/f/'b/u‘i R ¥ 3 /,l//é, iv
gf‘ JJ J..L?c.l"; u”(} Llyd_/_fi;.v‘_—/fl/ viit 4!0..45’ isté ("’r i
10=5x2 #q-t'z/‘?&'ﬂ cJ:E-uf-«.btw
Jw/SlKJ’ulJJ ‘G i .é:.d/‘&,f’;/ulfcl i //...ut-rh u*uefdw i
"Ld/’lfuf/d;ﬂ[-.fl}ulul.fl} vi Ly PS5 ST v JuIJVJJIAI AP v
"(_Cﬁw'r;b’l,)fdmﬂz viii eﬂ éflbfdlul /tﬁf’"‘fl vii
10=5x2 Sy ! itc_ Llits 4
sl el JJ/JJ P i vuu@[ﬂ/fa/ i 4"“;{,&;‘}"' A,
46_,!(,1‘_;‘}’}‘1 uta-r..u/\_ﬂf A7 Vi /J_,,U,,t / v ‘ﬁ' cf.f(' Ly d? v
°.=md’if WKW(!IJ&J’::.:I/J‘.W:‘!' i h;y\f:.d..&w Vw66 vii
18=2x9 (120
-J//fu&?ﬁuﬂlnz.afcgﬁgbbu w”
04 _2a8= V' J’g//x‘c_ug,(..!lf(J') 5
05 "(mb’u..:;tﬂg;‘f ZON&’L/ 45J' sy 22NSs L ("?L() - ()
04 ool Sl RS s S ASE () 6
05 “afu"i{!ﬁgﬁ-gt‘/_fnﬂzf12J¢Ll)g£,)”t IS G139100) r B L1 ()
04 Sl uij.jmu,tg koL () 7
05 °¢_/mwu'(J_,jvé:fLu/ JL-¢20°C ,Z-/ru".c_dt K2, Ww.{ ()
Physics (essay Type) Group-II (For all ’ns)
Time: 1:45 Hours §§ Marks: 48
2x5=10

2- Write short answers of any five part from the following.

i. Define prefixes and also give an example. i Wh
2fine-vectors and scalars.

v. What is Intemational System of Units? > Define position and also give an example.
vii. Define momentum and write its unit.

eant by vernier constant?

leration?Justify your answer.
3- Write short answers of any five pa e following. 2x5=10

i. Write two uses of Artificial S ii. Define Axis of Rotation.

iii. Write the value of 'G' and its\S: nnit. iv. Define potential energy and write its equation.

v. Define centre of gravity. vi. What is difference between like and unlike paralle! forces?

vii. Define efficiency and write its formula. vii. How can the mass of earth be determined? o
,,,,, i e )
Mnal i, Waywndudnnofheatdosnotmeplaoemgass?
iii. Define tensile strain.It has no unit. Why? iv. How does heat reach us from the sun.
v. Define the terms heat and temperature. vi. Define specific heat and write its unit in SI.

vii. State Hook's law.What is meant by elastic fimit?
viii. What is meant by evaporation?On what factors the evaporation of a liquid depends?
Section -II 9x2=18
Note: Answer any two quuﬁons from the followina.
5. (a) Derive with the help of graph that  2aS = V‘ V"
(b) How much time is required to change 22NS momentum by a force of 20N?
6. (a) Define equilibrium.State and expiain the first condition of equilibrium.
(b) A cyclist does 12Joules of useful work while pedalling his bike from every 100 joules of food energy
while he takes. What is his efficiency in percentage? '
7. (a) State Pascal's law and explain hydraulic press.
(b) A container has 2.5 litres of water at 20°C.How much heat is required to boil the water?
228-09-A—
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RollNo._

S.8.C - (Part-I)-A- 2019

S PaperCode| 5 |4 | 7 |3

(For all sessions)

Group-l-vur ]?;C!‘-G P - ,“\ s
PhySiCS (Objective Type) (Uﬁ/’ )J(?

Marks: 12 Time: 15 Minutes & 15:=3 12:74
LAy dbdize™ wong Ytz S L&D CBANZ A Ly ) g doeurletrpiied
eSS e LD L CBAsZEL

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B.C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. The boiling point of lead is: -c‘-J'gv@':f()g A1

(A) 1750°C (B) 1751°C ©) 1752°C (D) 1753°C
2. The major source of heat Energy is: e xS 2
(A) Moon 4 (B) Sun &wr (C) Earth o2 (D) Cloud ot
3. The number of base units in Sl is: @@ -.L;L«;g,(w‘}jd}gu:SI 3
(A) 3 (B) 6 ©7 @ D) 9
4. The unit of velocity is: o {&Q{BO —e S 4
(A) m-S (8) m-s™ @%ws2 (0) m2s?
5. The formula of Newton's second law of motion e Unli@iﬁ'y»ﬁfr‘(dﬁ 5
(A) F=ma ® g @ © r=2 (D) F=m’a?
o m
6. The formula of centripetal accel -c‘-unwj’-)’gld'i‘dﬁ: 6
® g =" 41 © 4 =¥ © g =%
A A @y 4" v
7. The unit of torque is: ] et 7
(A) N.m (8) Nm' €) N'm’ (D) NZm?
8. The formula of mass of earth is: -q,unb’(\jt.(u:‘.') .8
@y Rz ® p Rz © =28 o 4 R
© G A\ © G <G
9. One joule is equal to: e dankl 9
(A) 1J=1N.1m (B) 1J=1N.1S8 (C) 1J=1N.1h (D) 1J=1N.1m?
10. Mass-energy equation is: -.g__-,m/'&/'l-u't 10
(A) E=mc? (B) E=m’c’ (C) E=mc (D) =2
11. The unit of density is: ¢ B 1
(A) Kg.m (B) Kg.m" (C) Kgm? (D) Kg.m™
12. The Formula of specfic heat is: -4 U”JG(J}“?&/‘] A2
W =59 B) = MmAQ (6) o BQA ) B2
mAt At m A

225-09-A- W



— S.8.C - (Part-I) -A-2019
RoliNo.._____ St (For all sessions)
Group-I-.r,/ 2
Vi ( (4 'Y
PhySiCS (Essay Type) / * ’) ' [H& = ,.._flﬂ"l) ‘./?
Marks: 48 Time: 1:45 Hours & 1:45:5 a8: /7
Section-1 2x15=30 o
2-Write short answers of any five parts from the following. 2x5=10 2L g2 e e -2
i. Define base quantities and derived quantities. g.»/&,mw:i\.uld:v ;
ii. Write two rules to find the significant digits in a measurement. #UJ:II»LA./(}V;_#( U:J i
iii. Define scientific notation and give an example. 4’ ;Jv.ﬁmg;[.d /’Ju’ JEE il
iv. Differentitate between distance and displacement. C hu/u" AV 3 de i
v. Differentiate between speed and velocity. ubu/u” SVl v
vi. Define momentum and write its S.| unit. 4!6..48 Ib’Jw#{ﬂ }’J{y ¥ Vi
vii. Define friction and limiting friction. AP NS w,,u// il
viii. Define Atwood machine and write its one use. éfxfdwl.f b’uf":.tfu’ Hiee! Vil
3-Write short answers of any five parts from the following. 2x5=10 #{.W/"Zd?léLc.ch_u.'J}L»-S
i. State principle of moments. ubd:‘lb’fr i
ii. What is meant by centre of gravity? @ fes /&/c.d 1SS i
iii. What are artificial satellites? <?) “u';rt,.,/'vb"Jf" if
iv. How the value of g varies with altitude? Explain. /.)La“;drd’xc)fp’véd,«i_du/ g .iv
v. What is meant by couple? Give an example. % JeLSe ! s/:— AR
éf(umg(&/'ﬁ‘imé/ JJ«/' Vi

vi. Define energy and write two types of mechanical ener @%
vii. What is the value of speed of light? @ SeUnd iz u’u Vii
viii. Define power and write its S.| unit. 4-/ F2yS. I(V’wc;,{.ﬂ/’&ﬂ viii
4-Write short answers of any five parts fro t& IIowIng. 2x5=10 4?&?/"Zﬂ7'&b:..3fc.gﬁ):b»~4

i. Define stress and strain and write thei gqﬁ'éulul - /U’J /Alu- o

ii. Define Young's modulus. 4-/.41/"&)%»’;- i
iii. Why does the atmospheric ure vary with height? e bosud ALt //J,rw il
iv. What is meant by bimetallic stfip? S sl e 20l v
v. How does heat affect on the motion of molecules of a gas? e tn ] K_,IJJ/J:'J);_QL[_ v
vi. Why double walled glass vessel is used in thermoflask? g_JrJW'u{ AL B /J/dluli:d/;:JJLf Vi
vii. How does heat reach us from sun? ‘e ’4‘/ FhclraliZ Vi
vili. Explain the impact of green house effect in global warming? ;{.»u,d’/u:_.ﬁ‘ $hef SrdendsE vii
Section -II ».o

Note: Answer any two questions from the following. 9x2=18 /Q/’uyliéu Uiy ;.ch.uﬁd’ 3107} O
5. (a) Derive third equation of motion with the help of 04 -J)‘; '.:l)l/d/'u./ic.ud/..ﬁ/? iy () 5

speed-time graph.
(b) A body of 5kg is moving with a velocity of 10mS™". Find 05 | /e s 10mS- V) "L KJL(I/;{ 5 ()

the force required to stop it in 2 seconds. ;_‘,{f Sl LEL gy S RE2 ,&,_‘._
6. (a) Define Kinetic energy and derive its formula. 04 éﬂunbb’u‘u'&f.ﬂ/"p(d /l.ed( () .6
KE = %mv2 KE = %mv2
(b) A mechanic tightened the nut of a bicycle using a 15cm 05 <l /’chm/ 998 200Nl (&)
long spanner by exerting a force of 200N. Find the torque 4-/(:"’_.6&‘11!:4’[.;.4&/_/ K‘)g |
that has tightened it.
7. (a) Define specific heat. How would you find the specific 04 e n S AL g/ ez () T
heat of a solid? te. der}"d’
(b) A wooden block measuring 40cm x 10cmx5cm has a 05 K‘_/é:dj.ﬁé L'40cm x 10cmx5cm (o)
mass 850g. Find the density of wood. -J/()”d" mara c.(lf 850\

226-09-A-
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PaperCode| 5§ (4| 7

(For all sessions)

PhySiCS (Objective Type)
Marks: 12

Time: 15 Minutes 22415:2%
L/J!rw{qwmr « -_-,m.,:’f.,,mfwéé;oul,c,B,A..-.yz;@gédtmég‘éqwmu‘;fﬁbgyz&

Group-[l-%—,/j)“!)'(“ G /()

L e SIS P03 L UsInD | B A szt
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each questic

are given.Which answer you consider correct, fill the corresponding circle A,B

or pen ink on the answer sheet provided.

1.4
to 4200JKg 'K "is:
(A) 5JK™! (B) 21000JK
2. The S.| unit of thermal conductivity is:
(A) JKgK! (B) JKg'K"'
3. The least count of meter rod is:
(A) Tmm (B) 0.1mm
- 4. The motion of pendulum of clock is:
(A) Linear motion /3 £}
(C) Rotatory motion /v s/

5. The formula used to find centrifi

(A) _"_
mv’

6. Spring balance is used o measure,
(A) Mass L (B) Temperature £
7. Find the magnitude of force if its perpendicular
components are :Fx=4N, and Fy=3

(A) 5N (B) 16N

8. Value of g on Mars is:
(A) 4.73 (B) 3.73

9. A body of mass 2kg has K.E=25J. Its speed is:
(A) 50mS™ (B) 12.5mS™'

10. The value of atmospheric pressure at sea level is nearly:

(A) 110300Pa (B) 103100Pa

11. In Einstiens mass energy relation C represents:
(A) Speed of Sound 4z 1T
(C) Speed of electron LS9

12. The formula of Latent heat of fusion is:
(A) AQ =mHf (8) AQ=CHf

Heat capacity of 5kg of water having specific heat equal

@O@o.omm

42000Kg 'K " < od foore 7§
(D) 0.0011JK""
-‘g_';.fs.lb’&);{;@‘;
(D) Wm?K2

(C) 840JK’

(D) 0.001m

- JnJrJH,}; :’:Jlb/
(B) Vibratory motion er;‘. Al
(D) Random motion Jrf}z/

e K i S e
© m’ © m?
' "'2

e ded oty

(C) Force' i (D) Time [

u‘?}[d}féu’.@eqﬁwlfﬁ@a}.ﬁ ‘

Fx=aNsIFy=3N _c 4

(C) oN (D) 7N
wedd'gly
(C) 8.87 (D) 162
ke -4 250KESS L S 2
(C) 25ms" (D) 5ms™

Weedduyfova ol
(D) 100130Pa
- G C R el Z AL T
(B) Speed of light 4r(53,
(D) Speed of earth {{Jﬁ;

(C) 101300Pa

-y K.:«/Vy d/ 511"5

(€) AQ=mCfAT () AQ=mCf

227-09-A- 3¢
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S8.8.C - (Part-1) -A-2019

Roll No. Sl

(For all sessions)

i

Time: 1:45 Hours & 1:45:2%
Section-I 2x15=30
2-Write short answers of any five parts from the following.

Group-II-.r:/

PhySiCS (Essay Type)
Marks: 48
2x5=10

Write the names of two derived quantities and their S units.
Define Plasma Physics and Geophysics.

What is meant by least count of screw guage?

Define scalars and give two examples.

Differentiate between rotatary motion and circular motion
State Newton's third law of motion and give an example.

What is meant by Graph?

viii. Differentiate between rolling friction and sliding friction.
3-Write short answers of any five parts from the following.
Define resolution of forces.

Define couple and give an example.

Define neutral equilibrium and give an example.

State Newton's law of gravitation and write its equation. <

i.
ii.
iii.
iv.
V.
Vi.
vii.

2x5=10

ﬁo
%@w%m

i.
ii.
ii.
iv.

Why communication satellites are stationed at ge

V.
vi. What is meant by gravitational field strength?

vii. Define work. What is its S.I unit?

viii. Write the names of the parts of solar i@ system.

4-Write short answers of any five p m the following. 2x5=10

i. Define density. write its form Jdunit.

ii. Define Archimedes principlé:
iii. State Hook's law. What is meant by elastic limit?
iv. Differentiate between temperature and heat.

. What is meant by lower and upper fixed points?
Define thermal conductivity.

Why metals are good conductors of heat?

What is Leslie's Cube?

vi.
Vii.
viii.

Section -II
Note: Answer any two questions from the following. 9x2=18
5. (a) Define momentum and explain law of conservation
of momentum.
(b) A bicycle accelerates at 1mS from one initial velocity 05
of 4mS™' for 10S. Find the distance moved by it during
this interval of time.

10

6. (a) Explain interconversion of energy with an example. 04

(b) Find the magnitud and direction of a force, if its 05
x-component is 12N and y-component is 5N:

7. (a) Derive the equation: L =L (1+aAT) 04

05

(b) The density of air is 1.3Kgm'3. Find the mass of air in

room measuring 8mx5mx4m.
228-09-A-
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RollNo. R P17 Paper Code| 1 | 4 ! 7|7

Sessions; 2015-2017,2016-2018 & 2017-2019 A
Physics (objective Type) Group-I-_»/ (u‘i/)gf_/?
Marks: 12 < Time: 15 Minutes 24153, 124

LA SN s 2 P £ Dl C.B AMZB L i % 36323 Y i e (2O
,qj/fc_dg.uﬁggﬁuﬂ_ Aede LoD L CB Az

NOTE: Write answers to the quesNons on objective answer sheet provided. Four possible answers A B.C & D to each question

are given.Which answer you consider orrect, fill the corresponding circle A.B.C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. The value of gravitational constant 'G' ): _‘L:*EJ'G'MU"A-U{'/ 1.1

(A) 6.673x107"'Nm’Kg? (B) 6.673x10" Nm?Kg? . (C) 6.673x10""Nm?Kg? (D) 6.673x10"*Nm?Kg=

2. The kinetic energy of a body of mass 2 Kg is\g5J. Its speed is: ,dim};dlﬂ_,_aZSJJ}l.@JKJﬁL(IﬁZ i
(A) 5ms™! (B) 12.5mS"! (C) 25mS™" (D) 50mS"

3. What shoulid be the approximate length of a glass Wbe to ?L:i:(}:rd:’/i;wélr«"\,(v:fu%hiﬁi.t;./-’:,_-.b’;}g o3
construct a water barometer? ' @
(A} 0.5m (B) 1m : ) 2.5m ©€ (D) 11m

4. Which one of the following material has large specific heat? ST e J’H{.s_r"’_.-,/fiugjd_’}:‘l,‘f ttitn 4
(A) Copper ¢ (B) lce iz (€) %L (D) Mercury $./

5. The unit of thermal conductivity is: @ --:;-#!KL‘LJHJ} 5
(A) wm'K' (B) wmK= @%wm“}@ (D) wm?K"!

6. Metals are good conductor of heat due to the; @ —r K B g

(B) big size of theimolecules '/’w‘/.'e’)’g«OL[.ul
),_v-al.f_uf (D) rapid vibrations oMNheir atoms /"?ﬁ’f:;c'g,(/:féw
—e IS GBS 7

P
{A) free electrons i 2137

(C) small size of their motecules

i |

The number of base units in S| i

(A} 3 (B) 6 (C) 7 ) 9
8. Amount of substance in terms of numbers is measured.in- -;..;f_y_’(i./_,' g,'.f)le):f,‘;(fg:tuf.’?_nf( 8
{A) Gram ("x"; (B) Kilogram ﬂff (C) Newton % (D) le Jr
9. Atrain is moving at a speed of 36Kmh' .its speed -Jm}n(mpﬁms"_lau‘w/;/i JSGKmh"q_‘/‘..g 9
expressed in mS™' is:
(A) 10mS™ (B) 20ms™ (C) 25ms™ (D) 30mS™
10. Which one of the following is the unit of momentum? . 10
(A} Nm (B) kgms™ (C) NS (D) NS™*
11 Aforce of 10N is making an angle of 30° with the x-axis. ce Qb UK 30° AL e NS0 11
Its horizontal component will be: k
(A) 4N {B) 5N (C) 7N (D) 8.7N
12. The value of 'g' on moon’s surface is 1.6mS™ what will be the .,flz:1ooxg<;»-ga,,;_1.sms'zofJ'g'{i/ul'g 12
weight of a 100Kg body on the surface of the moon? ‘.‘B“anuJ;b’f-
{A) 100N {B) 160N (C) 1000N (D) 1600N
| 225-09-A- 3 W YW
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Sessions; 2015-2017,201
Group-I-%..u

PhySiCS {Essay Type)

Marks: 48
2x15=30
from the following.

Section-l
2-Write short answers of any five par
i. What is meant by scientific notation?

i When the zero error of screw gauge wiN be negative?
iii. Define basic quantities.
iv. Whal is meant by graph?

. What is the difference between distance and

<

{splacement?

-2018 & 2017-2019

Time: 1:45 Hours &8 1:45:23,

2x5=10

oy P
48:/,/.

E1
jl«b’/"&»‘/‘éhc;d:&.p’d’;bu-z

twv’:.uf‘yuavu i
"E‘y.' J/’;/za CK-’; i

- _~ub~_p/’ouuwd U i
“r_)f/b(r;‘bﬂ/ Jdv

Yy '/l/( '"u-/‘-J; 'J./}UJU RY

vi. What s tne difference between positive accelerktion and negatlve acceleration?te_ J ULz J/’rl ~,,1J')A'1,,,y Vi

vii. Define mass and weight.

viii. Write two disadvantages of friction.
3-Write short answers of any five parts from the followi
t. Define the resolution of forces.

li. What is difference between torque and couple?

iii. State the principle of moments.

iv. What s difference between ' g’ and 'G'?

v. Define gravitaticnal force.

vi. What is geostationary satellite?

vii. Define potential energy and write its formula.
viii. What is worx done in lifting a brick of mass 2kg through a
height of 5m above the ground?
4-Write short answers of any five parts from the following.

i. Define density and write its formula.

ii. State Pascal's iaw,

lii. State Archimede's princaple.

w. Differenliate betwser temperature and heat,
50°C on cer
Why are the birds cailed expert the

v. Convert ‘ligrade scale into £

vii. Define radiation,
viii. Differentiate between land and sea breeze.
Section -II

Note: Answer any two questions from the following. 9x2=18

5. (a) State Newton's Third law of motion and explain 04
it with an examp'e.

(b) Find the retardation produced when a car moving at a 05

velocity of 30 meltra per second slows down uniformly to

15mS™ in 5 seconds.
6. (a) Write names of three states of equifibrium and define them. 04
(b) A girl carrtes a 10K g bag upstairs to a height of 18 steps, 05

each 20cm high. Calculate the amount of work she has
done to carry the bag. Take (g=10mS™).

7. (a) Explain the working of hydraulic press on the basis of 04
Pascal's law.
(b) Hew much heat is required ‘o change 100g of water at 05

100°C into steam while latent heat of vaporization of water

is 2.26x1 OGJKQ"7
OK 226-09-A-

2x5=10
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Sessions; 2015-2017,2016-2018-2017-2019
Group-II-.,.,:/
Time: 1:45 Hours &£ 1:45:=3

Muarks: 48
Section-I 2x15=30
2-Write short answers of any five parts from the following.

I. Define least cou

(Z® ')J(/

48: A4

gdiw o
LI Yo A ([ PR Y T .
g:;’/b(usgv'“] A

2x5=10

ii. Define Plasma Physics and Geo-Physics. JJ/’JJ}?MJK/,»AL Kt
iii. Differentiate betweer\basic and derived quantities. C'!:u/u‘uu!w)ituld)lz i
iv. Differentiate between sgeed and velocity, (‘:bu/‘./“u’le v
v. Define vibratory motion and\give an example. -af:dw-féfiﬂ/’&/fd//b WV
vi. A player covers 80m distance I 10 seconds. Find its average speed. -4;’:;}’”%;»:"_@ Mec L/(L.L‘UK/'/BOJA*C1OL5/ IJ;J Vi
vii. Differentiale between mass an¥ weight. glyju'u/miut Vil
viii, Write two disadvantages of frictiox. bl i

3-Write short answers of any five party from the following.
i. Differentiate between like and unlike
ii. Stete the principle of moments.
ii. The weight of a body is 147N. What is its
{Teke the value of g as TOmS'Z)

ﬁo..«u;’/"féff]fél.c_dfc. ufJJC/)-?.o
E 5ol I p I B
éruwfmﬁ“r i

2x5=10

‘(L10mS 2JJQ) "‘{()L”U LKJLC_147N UJ'K(’\-{ i

iv. State law of gravitation. @ _:ﬁ:-)yuili‘(g«f-‘lﬂf v
v. What are the artificial satellities? @ﬁ vuggu%’ U v
vi. What is meant by global positioning system? %O T )'/l[a.(""-.?v‘i.h;’g,}bg Vi
vii. Define work and write its unit. Oé& - ../:’Kulul@f:ﬂi&.ﬁ; Vi
viii. What is the second name of solar cell and how is it ma @ “c..b-d’,/ﬂc_b?t!/»KJ’/r iii
4-Write short answers of any five parts from the follow@ 2x5=10 .é_‘auui/"ﬁpliléhc.df:.u‘J)b»-4
i. What is the application of Pascal's Law? S OIS L F
ii. Define Archmede's principle. % -df.u/’JJ:"Z.JM/f il
ii. What is meant by elasticily? ('C_U/J"L“ i
iv. Define lalent heat of fusion. qf(J/’Jw/l/d;J) v
v, Wnal is meant by internal energy of a body. (:.;I/J:;,J/IJ/IJKJ/ RY
vi. Define sea breeze. -d{-ﬂﬂfdf’/ i
vii. What is the cause to remain a glider in air? e Y rbe spind s 2d i
viii. What is meant by the transfer of heat? ?c‘—)i/l_fc.,@;iidu"«'l Vil
Section -1I ("
Note: Answer any two questions from the following. 9x2=18 -d/{/:‘/l;]iéu ch.gﬂd_fi(w; Oy

04
05

5. (a) Describe four methods of reducing friction.

(b) A car has a velocity 10mS™ . It accelerates at 0.2mS™
for half minute. Find the distance travelled during this
time. Also find its final velocity.

6. {a) A force 'F' makes an angle of § with x-axis. Determine 04
the magnitudes of its rectangular components

(b) A force of 200N acts on a body of mass 20Kg. The force 0§
accelerates the body from rest until it attains a velocity of
50mS™". Through what distance does the force act?

7. (a) What is up thrust? Explain the principle of floatation. 04

(fi):d]'&ﬂ/ ;/&J’bw_ﬂ&c _' "|
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